EAGRAROBREERT — 2 N— IBISH —F 2021578138 (K) 6EIAH2H

m#7¥ 8 C3Xt EEDE IR
[A&4£] 17 :800,000 8 ~ 23#%&:320,000 3 ~ 33#&:200,000H . 4 7#:120,000 M . 5 i :80,000 M
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
1 7| 7HLARTY LR 45 %J_l(l)g 1:(1_4).1 4-4 38.4] — 1 (438) g;i; (k3)
R:gALINT Ry IR BiATFO RS AEXT—T
o i 4 | REDDL 1:14.2 7-6 38.3| — 3 417 | F LBz (KH)
2|58 | FUxT—> 54.0 ) Lo |NEE
R:bo#sO-—U— BA-—drhHvE $HE ERM
ok B4 | EHEER 1:14.3 4-5 38.6| — 5 508 | SIREELE ()\HE)
31713 o R S e 5.0 (3/4) ) (B) 2&yJ-7—IFK
R:ZAv—h77)0> B:OCYILT2TY— R FRERS
7 4 5 | FHWE 1:14.7 -1 [38.0| — 10 | 423 | W& (KH)
4 11 VAhYTFTAh 54.0 (2) +2) KEEN
L:Tv TRy b Big2s5hTFa—L INRAS
—e— — N TREAE :15. - . — AR (KH)
5 6 SRFSTI—"5 4 5 e (11 115/20) 14-14 37.5 12 ;1_512) KEE—
L:yrho BT RNT—LTI—T EM JE—
j i 6 | XEEZ 1:15.0 13-13 | 37.7| — 9 420 | SLAEMR (KH)
61814 Y7 /<7l 54.0 (7E) -2) L
L:74NWKTy>a B:NCFU R JN#ET 7 — L4
3 . » it 4 | DEEFNIE 1:15.1 10-10  [38.8| — 8 423 | WBAFIE (V)
71111 | ¥r1>ivE— 54.0 (1/2) 7) | B Erids
x4 avR—-5— B:bhyTILE— ke
S0/ S # o6 | BEEX 1:15.2 6-7 39.3 — 7 498 | ETEH ()
8l5(9| 7 =NIv 56.0 (2 E) (0) | FUEBEEAER
L:2%— k770> B:AYy45rAO-X piVakie ]
N FHEFEA :15. - . — KiZEZ (KH)
9 3| VAL FEA o 54.0 1(715@2 - 400 2 (3?12) WMEE
RJFTTURN BiTAAA ) FE FAAAT7— L
) N s o6 | #EIIE 1:15.5 15-15  [37.7| — 11 419 | A= (KH)
10 10| / ~ 7 ¥ 2 54.0 (1 1/2) o |EAmE
29T b F—F7—K—K B:H>I+vT—Fv X BORM S
JOo—= o4 | SHE 1:15.5 98 |39.3| — | 13 | 488 |MNEEZ (KH)
11 2 — 56.0 (748%) (-5) =[B5
Ly LR BiUIYLIUUL 759 BEds
s o4 | BEEZE 1:15.7 2-2 40.5| — 4 472 | FBAFITE (viA)
12 5 X277/ 54.0 1) @) | B BiEHes
LY IRG4 TSR B:5—7 B
° = B4 | BAE 1:16.0 12-11 39.3| — 15 | 400 |=EZEE (KH)
13 4 E-F71kt ¥¢53.0 (11/2) +2) El”iﬁ
LNy ¥ = BiN-E-F 1k BALBRS
. — i 4 | BREA 1:16.1 8-9 40.0| — 6 437 | IBE=HE (KH)
14| 8|15 TETTA A51.0 (172) (-4) U.l?k?"EEﬁ
R:y—775>3 BEF/T4Zy>a BRI 7—L
s s it 4 | REEEX 1:16.2 3-3 40.9| — 14 | 479 | EHEFT (KH)
1507 12| b= AF v LY 54.0 172 L1y | EEAE
I ZART—F— BixH-O-—F NiEse]
@ 1 —F—@&BIEf
1T=7r=
230—F—
Jol=5r= 3,5,12,(7,13),9,8,15,2,1,11,4,14,6,10
43—+ — 3,5,12,7,13,8,9,2,15,1, (4,11) ,14,6,10
[ JIN=
B OB 7 210H 74K 7-8 280M e 4-5 590M JEHE 7-8-13 3,310
8 B 7 1304 7-13 830M B 4-5 620M K31 7-8-13 11,500M
8 150/ 8-13 1,230 B E 7-8 550/
13 390H B H 7-8 7708

ABTICOVTRDTEEERROODE, JHB LS,




